B2

ARG B B S Y N #
EHKRELZ D 10EE = 2/1 2
B E = E 2/1 2|
B23(AE) F B3 1/28p 2| 1] 1
MELCINE w B 2/1 1 1
LEE/INAIIISGT) R 2/1 1 4
B AAIB4 %= i 2/4 108 2
ZHZFE (5EES) = 2/2p 1 1
HEBARE 10 R 2/1 1

ZHZFE (5EE2) R 2/1p 1

2 E (J5ED) = E 2/3 1
ERNAI2 = F 2/1p 2 5 5
NIL bV BER () B 2/2p 4
BEEEAEER Ziii 2/3 3 1
% 18 o4 = PY 1 11
HAKSEA2(NS) w B 2/1p 11
AARS C w E 2/5 1 1
AAAS B w E 2/2p 1 3
HERMF3 T 2/3 1
A = 4 2/1 1
EFFRATLL =) 2/1 1
SIRJIENF2 (BEEX) x 1/25

SIRIESF (BEEK) /3 2/5

BES24(AE) F B3 2/1p

H A = Y 2/3

BROKLFAH = E 2/3

BWLBIIL—F)L 1E sEd110 8 3 el
=1 2EA %= 9 2/2 1] 1] 1
ZHZE (&) R 2/1 1

ZHSE (J0E3) %= Y 2/2 1
HWLBIIL—7)L 36 i 9 2/1 2

= \LERIL— 7L 20 %l 1/12 2 j
HZDEH(2/3FFF) = 2/3p 2
B 1A = B 2/1 1 B
SR ) | [ () % 3 1/10p 2
MZ DB (2/2554%) %= 3 2/2p 3
FRCIR (45 15) % 3 1/10p 2| T
HNFE2 Ziii 2/2 1
X 2E3A W R 2/4 1
MADEHR (2/18H#/F) =® 2/1p 2 3
MEFEEA b 2/1 3
HNZFE i 2/1 1
5 (24) % 3 1/10p 1
HEZE 1 2/1 1
HNFESI b 2/4

ERNA = F 2/ 116 4
A 2 = BN 2/2p 1] 18
B2 S = F 2/3p 1 3

18 23 67 69




